rSoI {"I‘OMS @
9!‘6(“ Mid fevm Ex«am

) A ’“
@ °<| ) T °<2. )\Z. + ’<3 L
1 Ao

_—:> 0(j+°<_z/\’+°(3 A -':‘-O A
P )2 =0 (B)

o(, + «, A TK})B ._::O @

Smb}»«cﬁwg @ ﬁow\ @ (Le 05/».;64
"(2. ()‘1 "/\)) t <3 ()‘1*)1)()‘1”).2) =0
=) A4 Ay () =0 @
(aoo /\/—-?\_2 ?0)
Like wiiejsqbbach"»g @ me.@ e obf
<, + < (/\’r{’/\j) =0 @
(% X1 =7370)



F')VL‘\}I/ qu}»tc @ ﬁ—m.‘ @ e
o b)nin |

“3 (/\.2 "'53) =©
=D 3= Y AT 70
o D) it Allsas tht &, =0
Pow (B) 1+ Alles that X, =
Hence A =, =Ky =0 . Tle vech~s

I 3 O
e F12/0)+614 + 63 "Flz/lélkj
/ Vs 4
I 8 o
p —2 o O
2= ) 3 o o
t T £4 b5, 4 EIR
-1 -3 O
s =7 'y



©,

Nete that t,F, f3, fp ave
f‘““""‘\] Vavzbles. To Fud Ne
fwhevsechsn of P, aud P, e need
o Ped b b, b, EIR 2
I+3¢, = —2 =>¢t,=2—]
#t,+9H =3 =24H=7/9
+ 6 +FE = T =318
(1 t 8t TS Tl +5ty A

3t = ~|-|-€ -4
ol e - X
- —a.7
4 4 3 8
- 2 -
(%)= %

{’5 pic 8A7 =294



@)

F;k.qll/ Hom e oblain

8
= -"“f“ ‘('8(—,) ""7:-2—;




,( : !'”1. X
2 _
-+ t, 3

D x—-|=Y-3 =%+ =2t,
/ X=l=7- 3-34-)7

(B Subshikbxg x=1,8=1 I &) we
6blain
|—1=Y-3=1+]
shith 1S absyrd . Heace £, &4,
0(_0 ua’" ;V\}‘Cﬂt’fff_.




(0/ l/ 9

(’/I,[)
é/
Siwnce ,(2/;’3 /MMH:I K ,(2_} o~ Jeuts hon

6 {}/ s a.lowa Nbe Ve c (1,/,1)
Dechre U, =(01,°)

(A.Z.:'(,/’/ })

[ebF wo calcylafe U, XU,



@)

w,xu,= (1 o —1).
Bgushsn  of e plaus Pk
coufrins L, &/(2,/ /'S

X = B ::d
andd A /[,-w-f- /q}eo ,(:Go-opﬂ, e
}aoiw{‘ (I/ 0,1). Hewce =0

/x-—%-:.:o[

@V: x

Y :X::--D/y::%
&

N
50\!’}}‘;)"\5“9 X=—0 Lk V=3 0 ohfajin




—D i § "
SRS EICEI N EAC
¥ 3 o ,

) (3 , .,
Besis “g Y J._S
s | O‘

© /

o/ I

| O/

V, Vz.

f/\“\7Z Becawe V&Y, 5/’<n Y
(ﬁ;]/ab}j ﬁ‘\ﬂ"\ &’)
/‘”5° V,&Vj__- GIY e l'kle/'emo(ﬂu{' he ause



e

@ c@]‘meusf‘“ﬂ J‘] \/:’-—-

:;#— elemenB /n | hasis f \/
=7




(
:v
y )
Mv.v
! o v
‘ ’
o

/('d\w
\'
l
+
ﬂ
VL)
Y
2
U
eV
Ze

:“)
E (
\ V
— i::_))
| of
odz(
ﬁ)
};
O ?
E
' U
. (Y/’
l.‘\/
"2.\/’
)

=>
«=p
=0
v
=P
.V
A
'-;O
@)
vV, t
0
V2



